

PERFECT POWERS BETWEEN TWO CONSECUTIVE SQUARES

RAFAEL JAKIMCZUK¹ *

ABSTRACT. In this note we obtain an upper bound for the number of perfect powers between two consecutive squares. We also prove some theorems on perfect powers between two consecutive squares. In this way we improve former results of the author.

1. INTRODUCTION

A natural number of the form m^n where m and $n \geq 2$ are positive integers is called a perfect power. The first few terms of the integer sequence of perfect powers are

1, 4, 8, 9, 16, 25, 27, 32, 36, 49, 64, 81, 100, 121, 125, 128, ...

Let $A(n)$ be the number of perfect powers in the open interval $((n-1)^2, n^2)$, where $n \geq 2$ is a positive integer. Clearly a trivial upper bound for $A(n)$ is $2n-2$, since the number of integers in the open interval $((n-1)^2, n^2)$ is $n^2 - (n-1)^2 - 1 = 2n-2$. In this article we obtain a better upper bound. It is well-known that $A(n) = 0$ for almost all intervals $((n-1)^2, n^2)$, since we have the theorem (see [2, Theorem 3.10])

Theorem 1.1. *Let us consider the n open intervals $(0, 1^2), (1^2, 2^2), \dots, ((n-1)^2, n^2)$. Let $S(n)$ be the number of these n open intervals that contain some perfect power. The following limit holds*

$$\lim_{n \rightarrow \infty} \frac{S(n)}{n} = 0$$

2. MAIN RESULTS

We have the following lemma.

Lemma 2.1. *Let $h \geq 3$ an arbitrary but fixed positive integer. Let us consider the sequence of disjoint intervals*

$$[k^2, (k+1)^2) \quad (k = 0, 1, 2, \dots) \tag{2.1}$$

If $n \geq 2$ is a positive integer then n^h and $(n+1)^h$ pertain to different and not consecutive intervals of the sequence (2.1).

Date: Received: Nov 30, 2015; Accepted: Jan 4, 2017.

* Corresponding author.

2010 Mathematics Subject Classification. Primary 11A99; Secondary 11B99.

Key words and phrases. Perfect powers, consecutive squares.

Proof. We have

$$\lfloor n^{h/2} \rfloor \leq n^{h/2} < \lfloor n^{h/2} \rfloor + 1 \quad (2.2)$$

Equation (2.2) gives

$$(\lfloor n^{h/2} \rfloor)^2 \leq n^h < (\lfloor n^{h/2} \rfloor + 1)^2 \quad (2.3)$$

In the same way we obtain

$$(\lfloor (n+1)^{h/2} \rfloor)^2 \leq (n+1)^h < (\lfloor (n+1)^{h/2} \rfloor + 1)^2 \quad (2.4)$$

We have the equation

$$(n^{h/2} + 2)^2 = n^h + 4n^{h/2} + 4 \quad (2.5)$$

From the binomial formula

$$(a+b)^n = \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k$$

we obtain the equation

$$((n+1)^{h/2})^2 = (n+1)^h = \sum_{k=0}^h \binom{h}{k} n^{h-k} = n^h + hn^{h-1} + \frac{h(h-1)}{2} n^{h-2} + A \quad (2.6)$$

where $(A \geq 1)$.

Clearly we have the inequality

$$4 < 6 \leq \frac{h(h-1)}{2} n^{h-2} \quad (h \geq 3) \quad (n \geq 2) \quad (2.7)$$

and the inequality

$$\frac{4}{h} < n^{(h/2)-1} \quad (h \geq 3) \quad (n \geq 2) \quad (2.8)$$

since if $h = 3$ we have $\frac{4}{3} < \sqrt{2}$ and if $h \geq 4$ the left side is less than or equal to 1 and the right side is greater than 1.

Inequality (2.8) is equivalent to the inequality

$$4n^{h/2} < hn^{h-1} \quad (h \geq 3) \quad (n \geq 2) \quad (2.9)$$

Equations (2.5), (2.6), (2.7) and (2.9) give us the inequality

$$n^{(h/2)} + 2 < (n+1)^{h/2} \quad (2.10)$$

Inequality (2.10) gives

$$\lfloor n^{h/2} \rfloor + 1 \leq n^{(h/2)} + 1 < (n+1)^{h/2} - 1 < \lfloor (n+1)^{h/2} \rfloor \quad (2.11)$$

Now, the lemma is an immediate consequence of (2.3), (2.4) and (2.11). $\square$

Corollary 2.2. *Let $h \geq 3$ an arbitrary but fixed positive integer. Let us consider the closed interval $[k^2, (k+1)^2]$, the number of h -th perfect powers in this interval is either 0 or 1. Let us consider the open interval $(k^2, (k+1)^2)$, the number of h -th perfect powers in this interval is either 0 or 1.*

Proof. It is an immediate consequence of Lemma 2.1. However, we shall give a simple and direct proof of this corollary. We have (mean value Theorem)

$$(k+1)^{2/h} - k^{2/h} = \frac{2}{h}(k+\epsilon)^{(2/h)-1} \leq \frac{2}{3}(2)^{(2/3)-1} < 1 \quad (k \geq 2) \quad (h \geq 3) \quad (2.12)$$

where $0 < \epsilon < 1$.

Suppose that there are two different h -th perfect powers s^h and r^h in the closed interval $[k^2, (k+1)^2]$, then we have

$$k^2 \leq s^h < r^h \leq (k+1)^2$$

Therefore

$$k^{2/h} \leq s < r \leq (k+1)^{2/h}$$

and consequently

$$(k+1)^{2/h} - k^{2/h} \geq r - s \geq 1$$

since r and s are different positive integers. This is an evident contradiction with inequality (2.12). $\square$

Let us consider the prime factorization of a positive integer $n > 1$

$$n = p_1^{a_1} p_2^{a_2} \cdots p_s^{a_s}$$

where $p_1, p_2, \dots, p_s$ are the different primes and $a_1, a_2, \dots, a_s$ are the exponents. Then, n is a perfect power if and only if $\gcd(a_1, a_2, \dots, a_s) > 1$. Therefore, if n is a perfect power then we can write

$$n = p_1^{a_1} p_2^{a_2} \cdots p_s^{a_s} = A^m$$

where A is not a perfect power and $m = \gcd(a_1, a_2, \dots, a_s) > 1$. The integer A will be called principal basis of the perfect power n and the integer $m > 1$ will be called the principal exponent of the perfect power n .

Corollary 2.3. *Suppose that in the open interval $(k^2, (k+1)^2)$ there are $t \geq 2$ different perfect powers $A_1^{m_1}, A_2^{m_2}, \dots, A_t^{m_t}$, where $A_1, A_2, \dots, A_t$ are the principal basis and $m_1, m_2, \dots, m_t$ are the principal exponents. Then the principal exponents are odd numbers and $\gcd(m_i, m_j) = 1$, $(i \neq j)$, $(i = 1, 2, \dots, t)$, $(j = 1, 2, \dots, t)$.*

Proof. It is an immediate consequence of Corollary 2.2. $\square$

Let $\pi(x)$ be the prime counting function. We have the following lemma.

Lemma 2.4. *The following inequality holds*

$$\pi(x) \leq 6 \frac{x}{\log x} \quad (x \geq 3)$$

Proof. We have the inequality (see [1, Chapter 4])

$$\pi(n) \leq 6 \frac{n}{\log n} \quad (n \geq 2)$$

Now, the function $f(x) = \frac{x}{\log x}$ is strictly increasing in the interval $[3, \infty)$, since $f'(x) = \frac{\log x - 1}{\log^2 x} > 0$ $(x \geq 3)$. $\square$

Now, we can prove the following theorem.

Theorem 2.5. *The following inequalities hold*

$$A(n) \leq \pi \left(\left\lfloor \frac{2 \log n}{\log 2} \right\rfloor \right) - 1 \quad (n \geq 2) \quad (2.13)$$

$$A(n) \leq \frac{12}{\log 2} \frac{\log n}{\log \log n} \quad (n \geq 3) \quad (2.14)$$

Proof. We have

$$2^{\frac{2 \log n}{\log 2}} = n^2$$

Therefore

$$2^{\left(\left\lfloor \frac{2 \log n}{\log 2} \right\rfloor + 1\right)} > n^2$$

and consequently

$$s^k > n^2 \quad (s \geq 2) \quad \left(k \geq \left\lfloor \frac{2 \log n}{\log 2} \right\rfloor + 1 \right)$$

This fact implies that if there exists a perfect power a^p such that

$$(n-1)^2 < a^p < n^2$$

where p is a positive prime (note that all perfect power can be written with prime exponent) then

$$3 \leq p \leq \left\lfloor \frac{2 \log n}{\log 2} \right\rfloor$$

Consequently Corollary 2.2 implies the inequality

$$A(n) \leq \pi \left(\left\lfloor \frac{2 \log n}{\log 2} \right\rfloor \right) - 1$$

That is, inequality (2.13).

On the other hand, inequality (2.13) and Lemma 2.4 give

$$\begin{aligned} A(n) &\leq \pi \left(\left\lfloor \frac{2 \log n}{\log 2} \right\rfloor \right) - 1 \leq \pi \left(\left\lfloor \frac{2 \log n}{\log 2} \right\rfloor \right) \leq \pi \left(\frac{2 \log n}{\log 2} \right) \leq \frac{\frac{12 \log n}{\log 2}}{\log \left(\frac{2 \log n}{\log 2} \right)} \\ &= \frac{12}{\log 2} \frac{\log n}{\log \left(\frac{2}{\log 2} \right) + \log \log n} = \frac{12}{\log 2} \frac{1}{1 + \frac{\log \left(\frac{2}{\log 2} \right)}{\log \log n}} \frac{\log n}{\log \log n} \\ &\leq \frac{12}{\log 2} \frac{\log n}{\log \log n} \end{aligned}$$

That is, inequality (2.14). □

Theorem 2.6. *Suppose that in the closed interval $[n^2, (n+1)^2]$ ($n \geq 3$) there are $t \geq 2$ different perfect powers $n^2 = A_1^{m_1}, A_2^{m_2}, \dots, A_t^{m_t} = (n+1)^2$, where $A_1, A_2, \dots, A_t$ are not necessarily the principal basis and consequently $m_1, m_2, \dots, m_t$ are not necessarily the principal exponents. Then $A_i \neq A_j$, ($i \neq j$), ($i = 1, 2, \dots, t$), ($j = 1, 2, \dots, t$).*

Proof. Suppose that there are two perfect powers A^{h_1} and A^{h_2} such that the following inequality holds

$$n^2 \leq A^{h_1} < A^{h_2} \leq (n+1)^2 \quad (2.15)$$

Note that then $h_2 > h_1$.

Therefore we have

$$\frac{A^{h_2}}{A^{h_1}} \leq \frac{(n+1)^2}{n^2} = \left(1 + \frac{1}{n}\right)^2$$

That is

$$A^{h_2-h_1} \leq \left(1 + \frac{1}{n}\right)^2$$

That is

$$h_2 - h_1 \leq \frac{1}{\log A} \log \left(\left(1 + \frac{1}{n}\right)^2 \right) \quad (2.16)$$

Let us consider the inequality

$$\log \left(\left(1 + \frac{1}{n}\right)^2 \right) < \log 2 \quad (2.17)$$

that is

$$\left(1 + \frac{1}{n}\right)^2 < 2$$

that is

$$1 + \frac{1}{n} < \sqrt{2}$$

This inequality, and consequently inequality (2.17), has the solutions $n \geq 3$.

Inequality (2.16) and inequality (2.17) give the inequality $h_2 - h_1 < 1$ ($n \geq 3$), since $A \geq 2$. Now, the inequality $h_2 - h_1 < 1$ is impossible since $h_2 \geq 2$ and $h_1 \geq 2$ are different positive integers. Therefore the inequality (2.15) is impossible. $\square$

Theorem 2.7. *Let us consider two perfect powers $A_1^{h_1} < A_2^{h_2}$ in the open interval $(n^2, (n+1)^2)$, that is*

$$n^2 < A_1^{h_1} < A_2^{h_2} < (n+1)^2 \quad (2.18)$$

where A_1 and A_2 are not necessarily the principal basis and consequently h_1 and h_2 are not necessarily the principal exponents. We have

$$h_1 > h_2 \Leftrightarrow A_1 < A_2 \quad (2.19)$$

$$h_1 < h_2 \Leftrightarrow A_1 > A_2 \quad (2.20)$$

Proof. Suppose that $h_1 > h_2$ and $A_1 > A_2$. Then

$$h_1 > h_2 \Rightarrow A_1^{h_1} > A_1^{h_2} > A_2^{h_2} \Rightarrow A_1^{h_1} > A_2^{h_2}$$

that is, an evident contradiction with (2.18). Therefore if $h_1 > h_2$ then $A_1 < A_2$. That is

$$h_1 > h_2 \Rightarrow A_1 < A_2 \quad (2.21)$$

Now, suppose that $h_1 < h_2$ and $A_1 < A_2$. Then

$$h_1 < h_2 \Rightarrow A_1^{h_1} < A_1^{h_2} < A_2^{h_2}$$

Therefore $n^2 \leq A_1^{h_1} < A_1^{h_2} \leq (n+1)^2$, an evident contradiction with Theorem 2.6. Hence if $h_1 < h_2$ then $A_1 > A_2$. That is

$$h_1 < h_2 \Rightarrow A_1 > A_2 \quad (2.22)$$

Now, (2.19) and (2.20) are an immediate consequence of (2.21) and (2.22). $\square$

The following theorem is well-known (see [2, Theorem 3.13])

Theorem 2.8. *Let us consider the n open intervals $(0, 1^2), (1^2, 2^2), \dots, ((n-1)^2, n^2)$. Let $S(n)$ be the number of these n open intervals that contain some perfect power. We have the following asymptotic formula*

$$S(n) \sim n^{2/3}.$$

Let $S_1(n)$ be the number of these n open intervals that contain only one perfect power. We have the following asymptotic formula

$$S_1(n) \sim n^{2/3}.$$

Let $S_2(n)$ be the number of these n open intervals that contain at least two perfect powers. We have the following formula

$$S_2(n) = o(n^{2/3}).$$

Note that this theorem say us that almost all the n intervals are empty and that almost all the intervals that contain some perfect powers have only one perfect power. Therefore the intervals that contain at least two perfect powers are very scarce.

Now, we prove the following more precise theorem.

Theorem 2.9. *Let us consider the n open intervals $(0, 1^2), (1^2, 2^2), \dots, ((n-1)^2, n^2)$. Let $S(n)$ be the number of these n open intervals that contain some perfect power. We have the following asymptotic formula*

$$S(n) = n^{2/3} + O(n^{2/5})$$

and the number of perfect powers contained in these intervals is $n^{2/3} + n^{2/5} - n^{2/6} + o(n^{2/6}) = n^{2/3} + O(n^{2/5})$.

Let $S_1(n)$ be the number of these n open intervals that contain only one perfect power. We have the following asymptotic formula

$$S_1(n) = n^{2/3} + O(n^{2/5})$$

and the number of perfect powers contained in these intervals is $n^{2/3} + O(n^{2/5})$.

Let $S_2(n)$ be the number of these n open intervals that contain at least two perfect powers. We have the following formula

$$S_2(n) = O(n^{2/5})$$

and the number of perfect powers contained in these intervals is $O(n^{2/5})$.

Proof. Let $N(x)$ be the number of perfect powers not exceeding x . We have the formula (see [3])

$$N(x) = x^{1/2} + x^{1/3} + x^{1/5} - x^{1/6} + o(x^{1/6})$$

Therefore

$$N(n^2) = n + n^{2/3} + n^{2/5} - n^{2/6} + o(n^{2/6}) \quad (2.23)$$

where n are the n squares $1^2, 2^2, \dots, n^2$ that do not pertain to the n open intervals. Hence the number of perfect powers in the n open intervals is $n^{2/3} + n^{2/5} - n^{2/6} + o(n^{2/6}) = n^{2/3} + O(n^{2/5})$.

Let us consider the inequality $i^3 \leq n^2$, this inequality has the solutions $i = 1, 2, \dots, \lfloor n^{2/3} \rfloor$. Now, Let us consider the inequality $i^6 \leq n^2$, this inequality has the solutions $i = 1, 2, \dots, \lfloor n^{2/6} \rfloor$. Hence the number of cubes in these n open intervals is

$$\lfloor n^{2/3} \rfloor - \lfloor n^{2/6} \rfloor = n^{2/3} - n^{2/6} + O(1) \quad (2.24)$$

Consequently equation (2.23) can be written in the form

$$\begin{aligned} N(n^2) &= n + (n^{2/3} - n^{2/6} + O(1)) + (n^{2/5} + o(n^{2/6}) - O(1)) \\ &= n + (n^{2/3} - n^{2/6} + O(1)) + (n^{2/5} + o(n^{2/6})) \end{aligned} \quad (2.25)$$

where $n^{2/5} + o(n^{2/6})$ is the number of perfect powers in the n open intervals that are not squares and are not cubes.

Let $B(n)$ be the number of open intervals that contain only a perfect power different of a cube, then (see (2.25))

$$0 \leq B(n) \leq n^{2/5} + o(n^{2/6})$$

that is

$$0 \leq \frac{B(n)}{n^{2/5}} \leq 1 + \epsilon \quad (\epsilon > 0)$$

that is

$$B(n) = O(n^{2/5}) \quad (2.26)$$

Let $C(n)$ be the number of open intervals that contain a cube and at least other perfect power. Then (see (2.25))

$$0 \leq C(n) \leq n^{2/5} + o(n^{2/6})$$

that is

$$C(n) = O(n^{2/5}) \quad (2.27)$$

Therefore (see (2.24), (2.26), (2.27) and Corollary 2.2)

$$\begin{aligned} S_1(n) &= n^{2/3} - n^{2/6} + O(1) + B(n) - C(n) \\ &= n^{2/3} - n^{2/6} + O(1) + O(n^{2/5}) - O(n^{2/5}) = n^{2/3} + O(n^{2/5}) \end{aligned}$$

Let $D(n)$ be the number of open intervals that contain at least two perfect powers and do not contain cubes. Then (see (2.25))

$$0 \leq D(n) \leq n^{2/5} + o(n^{2/6})$$

that is

$$D(n) = O(n^{2/5}) \tag{2.28}$$

Therefore (see (2.27) and (2.28))

$$S_2(n) = C(n) + D(n) = O(n^{2/5})$$

and consequently

$$S(n) = S_1(n) + S_2(n) = n^{2/3} + O(n^{2/5})$$

□

Acknowledgement. The author is very grateful to Universidad Nacional de Luján.

REFERENCES

1. T. M. Apostol, *Introduction to Analytic Number Theory*, Springer, 1976.
2. R. Jakimczuk, *Some results on the difference between consecutive perfect powers*, Gulf Journal of Mathematics **3** (2015), Issue 3, 9 - 32.
3. R. Jakimczuk, *On the distribution of perfect powers*, Journal of Integer Sequences **14** (2011), Article 11.8.5.

¹ DIVISIÓN MATEMÁTICA, UNIVERSIDAD NACIONAL DE LUJÁN, BUENOS AIRES, ARGENTINA.

E-mail address: jakimczu@mail.unlu.edu.ar